NZB Beginner Module 6 — Opener NT Rebids

Board 1
North Deals
None Vul

& K875
vy K5

¢+ 853

& A1065

N
W E
S

4 AJ3
vy A87
¢ AKJ10
&873

4 1096
vJ92
¢ 642
&»KQJ2

4 Q42
vQ10643
+ Q97
*94

NS 6¢ ; NS5N; NS 54; NS 5&;: NS 3v;
Par +920: NS 6¢ =

West North East South

Pass Pass le
Pass 1e Pass INT
Pass 3NT All pass

South rebids 1 NT to show 15-17 and a balanced hand.
North has 10 HCP - and a balanced hand - enough for game so
they bid 3 NT.

Lead: # K top of sequence

Declarer wins with & A and leads a ¢ towards AKJ10 - playing
the J or 10 to finesse East's ¢ Q.

There is also a winning # finesse available leading towards

& AJ3 from dummy.

Board 2
East Deals
N-S Vul

4 Q1063
vK753
+97
+QJ5

& A4 N

& KJ982

Board 3 o KJ7543
South Deals v7
E-W Vul ¢ 952
& K54
&9 N 4 Q102
vy K52 W E vJ9o9864
¢ QJ103 = ¢+ 86
& 98762 & AJ3
4 A8G6
vy AQ103
¢ AK74
« Q10

NS 54 ;S 4N; N 3N; NS 4¢ ; NS 2v; NS 1&;
Par +450: NS 44 +1

West North East South

1e
Pass le Pass 2NT
Pass 4e All pass

South rebids a jump to 2 NT to show 18-19 HCP and a balanced
hand.

North, knowing there is now a # fit, bids 4 & .
Lead: ¥ 4 - low from honour

Declarer is best to play on #s first to ruff a # in dummy before
drawing more than one round of trumps. Alternatively, if all their

trumps are already gone, they can lead towards # Q10 and play
the 10.

vyQ98
¢ AJ85
& A942

v 102
¢ K42
& 873

W E
S

75

v AJ64
¢ Q1063
& K106

EW 34; EW 2N; EW 2¢ ; EW 2&;
Par -140: EW 14 +2

West North East South

Pass Pass
1 Pass 1e Pass
INT All pass

West rebids 1 NT to show a 15-17 HCP balanced hand.

East has only 7 HCP, so they can calculate there is a maximum
of 24 between the two hands - not enough for game. Also with a
balanced hand they pass 1 NT.

Lead: ¥ 3 - low from honour
Declarer finesses the # Q playing the # A and back to the ¢ J

and leads 2 more to establish a long # . Later a finesse of ¢ Q
also works.

Board 4 4 876
West Deals vy AK42
Both Vul ¢ 95
& K542
4 KQ103 N & A95
v 1097 W E v Q85
¢ 763 = ¢ AK2
& QJ10 & A983
& J42
vJ63
¢ QJ1084
& 76
EW 5N; EW 5&; EW 5&; EW 3v; EW 2¢ ;
Par -660: EW 3N+2
West North East South
Pass Pass 1% Pass
1e Pass INT Pass
2NT Pass 3NT All pass

East rebids 1 NT showing 15-17 balanced. West isn't sure of
enough for game, but can invite if partner is maximum, so they
invite with 2 NT. East with a maximum hand accepts the invite .

Lead: ¢ Q

Declarer crosses to dummy with a low # to the # K or Q so they
can lead # Q and run it for a successful finesse.
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NZB Beginner 06 — Responders Rebids

Board 5 & AG2
North Deals vyQi1087
N-S Vul ¢ AQJ
Q98
4 QJ3 N 4 8
vy A653 W E vJ92
¢ 852 = ¢ K1093
& KJ6 & AT7432
4 K109754
v K4
¢ 764
& 105

NS 24: NS IN; NS 1v; EW 1¢; EW 1;
Par +110: NS 24 =

West North East South

lv Pass 1e
Pass INT Pass 24
All pass

North rebids 1 NT to show 15-17 and a balanced hand.
South knows there is not enough for game and that there is a ¢
fit, so they sign off in 2 4.

West leads: # 6 - low from honours.

On this hand the ¢ finesse doesn't work, so the contract can be
kept to 8 tricks.

Board 6
East Deals
E-W Vul

& J1093
vy K87
¢+ 865
&J63

N
W E
S

&4 A54

v 4

¢ AJ943
& 10742

4 Q76

v QJ10932
*7

+Q85

& K82
v A65
¢+ KQ102
& AK9

EW 5N; EW 5v; EW 34; EW 3&; EW 2¢;
Par -660: EW 3N+2

West North East South

1¢ Pass
lv Pass 2NT Pass
4 All pass

East rebids a jump to 2 NT to show 18-19 HCP and a balanced
hand.

West, knowing there is now a ¥ fit, bids 4 v.
Lead: & J - top of sequence

South should duck the & J lead and Declarer wins the ¢ Q. Next
they try the finesse in trumps of the K, by leading ¥ Q from hand

and letting it run, if not covered. Later set up a trick in ¢ s to make
11 tricks.
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Board 7
South Deals
Both Vul

4 K65
vy K8732
¢+ A9S8

& 92
N e J742
vy A54
WSE ¢ 73

*KQ104
4 AOS

vJ109
¢ KQJb6
&»A76

4 Q103
vQ6

¢ 10542
#J853

NS 5v; NS 3N; NS 4¢ ; NS 24 : EW 1%;
Par +650: NS 4v +1

West North East South

1e
Pass lv Pass INT
Pass 3 Pass 49
All pass

South rebids 1 NT to show a 15-17 balanced hand. With 10 HCP,
North now has game values, but they investigate if there's a v fit
to choose the best final contract. A jump to 3 ¥ is forcing, looking
for and finding 3-card support.

East leads: # K

Declarer wins # A then runs the ¥ J to finesse West's ¥ Q and
force out East's v A.

West Deals

Board 8 4 J8652

v K102

¢ K64

& 107

N & AK974
vy A96
WS E N Q9

# Q95

None Vul

&3
vQ743
¢J10873
& AK4
4 Q10
vJ85
¢ A52
&#J8632

EW 3N; EW 3v; EW 3¢ ; EW 14; EW 14,
Par -400: EW 3N=

West North East South
Pass Pass 1e Pass
24 Pass 2NT Pass
3NT All pass

East rebids 2 NT with 15-17 HCP balanced. Although West's
hand isn't balanced, their shortage is in partner's suit and there's
enough for game, so they are happy to raise to 3 NT.

Lead: & 2

Declarer wins # Q in hand and develops tricks in ¢ s. Start by
leading ¢ Q and force out both the ¢ A and ¢ K to establish 3
extra tricks to make the contract.
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[Event "NZB Beginner Module 6 – Opener NT Rebids"]

[Site ""]

[Date ""]

[Board "1"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "N"]

[Vulnerable "None"]

[Deal "N:K875.K5.853.AT65 Q42.QT643.Q97.94 AJ3.A87.AKJT.873 T96.J92.642.KQJ2"]

[Scoring ""]

[Declarer ""]

[Contract ""]

[Result ""]

{South rebids 1NT to show 15-17 and a balanced hand.\n

North has 10 HCP - and a balanced hand - enough for game so they bid 3NT.



Lead: \CK top of sequence



Declarer wins with \CA and leads a \D towards AKJ10 - playing the J or 10 to

finesse East's \DQ.\n

There is also a winning \S finesse available leading towards \SAJ3 from dummy.}

[BCFlags "1f"]

[DoubleDummyTricks "bb9cbbb9cb2241222412"]

[OptimumScore "NS 920"]

[ParContract "NS 6D="]

[Auction "N"]

Pass Pass 1D Pass

1S Pass 1NT Pass

3NT AP

[OptimumResultTable "Declarer;Denomination\2R;Result\2R"]

N NT 11

N  S 11

N  H  9

N  D 12

N  C 11

S NT 11

S  S 11

S  H  9

S  D 12

S  C 11

E NT  2

E  S  2

E  H  4

E  D  1

E  C  2

W NT  2

W  S  2

W  H  4

W  D  1

W  C  2



[Event "NZB Beginner 06 – Responders Rebids"]

[Site ""]

[Date ""]

[Board "2"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "E"]

[Vulnerable "NS"]

[Deal "E:KJ982.T2.K42.873 75.AJ64.QT63.KT6 A4.Q98.AJ85.A942 QT63.K753.97.QJ5"]

[Scoring ""]

[Declarer ""]

[Contract ""]

[Result ""]

{West rebids 1NT to show a 15-17 HCP balanced hand.\n

East has only 7 HCP, so they can calculate there is a maximum of 24 between the

two hands - not enough for game. Also with a balanced hand they pass 1NT.



Lead: \H3 - low from honour



Declarer finesses the \SQ playing the \SA and back to the \SJ and leads 2 more

to establish a long \S. Later a finesse of \DQ also works.}

[BCFlags "1f"]

[DoubleDummyTricks "54654546548968889688"]

[OptimumScore "EW 140"]

[ParContract "EW 1S+2"]

[Auction "E"]

Pass Pass 1C Pass

1S Pass 1NT AP

[OptimumResultTable "Declarer;Denomination\2R;Result\1R"]

N NT 5

N  S 4

N  H 6

N  D 5

N  C 4

S NT 5

S  S 4

S  H 6

S  D 5

S  C 4

E NT 8

E  S 9

E  H 6

E  D 8

E  C 8

W NT 8

W  S 9

W  H 6

W  D 8

W  C 8



[Event "NZB Beginner 06 – Responders Rebids"]

[Site ""]

[Date ""]

[Board "3"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "S"]

[Vulnerable "EW"]

[Deal "S:A86.AQT3.AK74.QT 9.K52.QJT3.98762 KJ7543.7.952.K54 QT2.J9864.86.AJ3"]

[Scoring ""]

[Declarer ""]

[Contract ""]

[Result ""]

{South rebids a jump to 2NT to show 18-19 HCP and a balanced hand.\n

North, knowing there is now a \S fit, bids 4\S.



Lead: \H4 - low from honour



Declarer is best to play on \Cs first to ruff a \C in dummy before drawing more

than one round of trumps. Alternatively, if all their trumps are already gone,

they can lead towards \CQ10 and play the 10.\n

<span style=color:#f0f0f0>-</span>}

[BCFlags "1f"]

[DoubleDummyTricks "9b8a7ab8a73253532535"]

[OptimumScore "NS 450"]

[ParContract "NS 4S+1"]

[Auction "S"]

1D Pass 1S Pass

2NT Pass 4S AP

[OptimumResultTable "Declarer;Denomination\2R;Result\2R"]

N NT  9

N  S 11

N  H  8

N  D 10

N  C  7

S NT 10

S  S 11

S  H  8

S  D 10

S  C  7

E NT  3

E  S  2

E  H  5

E  D  3

E  C  5

W NT  3

W  S  2

W  H  5

W  D  3

W  C  5



[Event "NZB Beginner 06 – Responders Rebids"]

[Site ""]

[Date ""]

[Board "4"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "W"]

[Vulnerable "All"]

[Deal "W:KQT3.T97.763.QJT 876.AK42.95.K542 A95.Q85.AK2.A983 J42.J63.QJT84.76"]

[Scoring ""]

[Declarer ""]

[Contract ""]

[Result ""]

{East rebids 1NT showing 15-17 balanced. West isn't sure of enough for game,

but can invite if partner is maximum, so they invite with 2NT. East with a

maximum hand accepts the invite .



Lead: \DQ



Declarer crosses to dummy with a low \S to the \SK or Q so they can lead \CQ

and run it for a successful finesse. 

}

[BCFlags "1f"]

[DoubleDummyTricks "2245222352bb98bbb98b"]

[OptimumScore "EW 660"]

[ParContract "EW 3N+2"]

[Auction "W"]

Pass Pass 1C Pass

1S Pass 1NT Pass

2NT Pass 3NT AP

[OptimumResultTable "Declarer;Denomination\2R;Result\2R"]

N NT  2

N  S  2

N  H  4

N  D  5

N  C  2

S NT  2

S  S  2

S  H  3

S  D  5

S  C  2

E NT 11

E  S 11

E  H  9

E  D  8

E  C 11

W NT 11

W  S 11

W  H  9

W  D  8

W  C 11



[Event "NZB Beginner 06 – Responders Rebids"]

[Site ""]

[Date ""]

[Board "5"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "N"]

[Vulnerable "NS"]

[Deal "N:A62.QT87.AQJ.Q98 8.J92.KT93.A7432 KT9754.K4.764.T5 QJ3.A653.852.KJ6"]

[Scoring ""]

[Declarer ""]

[Contract ""]

[Result ""]

{North rebids 1NT to show 15-17 and a balanced hand.\n

South knows there is not enough for game and that there is a \S fit, so they

sign off in 2\S.



West leads: \C6 - low from honours.



On this hand the \D finesse doesn't work, so the contract can be kept to 8

tricks.}

[BCFlags "1f"]

[DoubleDummyTricks "78765787656467764677"]

[OptimumScore "NS 110"]

[ParContract "NS 2S="]

[Auction "N"]

1H Pass 1S Pass

1NT Pass 2S AP

[OptimumResultTable "Declarer;Denomination\2R;Result\1R"]

N NT 7

N  S 8

N  H 7

N  D 6

N  C 5

S NT 7

S  S 8

S  H 7

S  D 6

S  C 5

E NT 6

E  S 4

E  H 6

E  D 7

E  C 7

W NT 6

W  S 4

W  H 6

W  D 7

W  C 7



[Event "NZB Beginner 06 – Responders Rebids"]

[Site ""]

[Date ""]

[Board "6"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "E"]

[Vulnerable "EW"]

[Deal "E:K82.A65.KQT2.AK9 A54.4.AJ943.T742 Q76.QJT932.7.Q85 JT93.K87.865.J63"]

[Scoring ""]

[Declarer ""]

[Contract ""]

[Result ""]

{East rebids a jump to 2NT to show 18-19 HCP and a balanced hand.\n

West, knowing there is now a \H fit, bids 4\H.



Lead: \SJ - top of sequence



South should duck the \SJ lead and Declarer wins the \SQ. Next they try the

finesse in trumps of the K, by leading \HQ from hand and letting it run, if not

covered. Later set up a trick in \Ds to make 11 tricks.



}

[BCFlags "1f"]

[DoubleDummyTricks "2425324253b9b89b9b89"]

[OptimumScore "EW 660"]

[ParContract "EW 3N+2"]

[Auction "E"]

1D Pass 1H Pass

2NT Pass 4H AP

[OptimumResultTable "Declarer;Denomination\2R;Result\2R"]

N NT  2

N  S  4

N  H  2

N  D  5

N  C  3

S NT  2

S  S  4

S  H  2

S  D  5

S  C  3

E NT 11

E  S  9

E  H 11

E  D  8

E  C  9

W NT 11

W  S  9

W  H 11

W  D  8

W  C  9



[Event "NZB Beginner 06 – Responders Rebids"]

[Site ""]

[Date ""]

[Board "7"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "S"]

[Vulnerable "All"]

[Deal "S:A98.JT9.KQJ6.A76 QT3.Q6.T542.J853 K65.K8732.A98.92 J742.A54.73.KQT4"]

[Scoring ""]

[Declarer ""]

[Contract ""]

[Result ""]

{South rebids 1NT to show a 15-17 balanced hand. With 10 HCP, North now has

game values, but they investigate if there's a \H fit to choose the best final

contract. A jump to 3\H is forcing, looking for and finding 3-card support.



East leads: \CK



Declarer wins \CA then runs the \HJ to finesse West's \HQ and force out East's

\HA.



}

[BCFlags "1f"]

[DoubleDummyTricks "98ba698ba62522725227"]

[OptimumScore "NS 650"]

[ParContract "NS 4H+1"]

[Auction "S"]

1D Pass 1H Pass

1NT Pass 3H Pass

4H AP

[OptimumResultTable "Declarer;Denomination\2R;Result\2R"]

N NT  9

N  S  8

N  H 11

N  D 10

N  C  6

S NT  9

S  S  8

S  H 11

S  D 10

S  C  6

E NT  2

E  S  5

E  H  2

E  D  2

E  C  7

W NT  2

W  S  5

W  H  2

W  D  2

W  C  7



[Event "NZB Beginner 06 – Responders Rebids"]

[Site ""]

[Date ""]

[Board "8"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "W"]

[Vulnerable "None"]

[Deal "W:3.Q743.JT873.AK4 J8652.KT2.K64.T7 AK974.A96.Q9.Q95 QT.J85.A52.J8632"]

[Scoring ""]

[Declarer ""]

[Contract ""]

[Result ""]

{East rebids 2NT with 15-17 HCP balanced. Although West's hand isn't balanced,

their shortage is in partner's suit and there's enough for game, so they are

happy to raise to 3NT.



Lead: \C2



Declarer wins \CQ in hand and develops tricks in \Ds. Start by leading \DQ and

force out both the \DA and \DK to establish 3 extra tricks to make the contract.}

[BCFlags "1f"]

[DoubleDummyTricks "35435354359799797997"]

[OptimumScore "EW 400"]

[ParContract "EW 3N="]

[Auction "W"]

Pass Pass 1S Pass

2D Pass 2NT Pass

3NT AP

[OptimumResultTable "Declarer;Denomination\2R;Result\1R"]

N NT 3

N  S 5

N  H 4

N  D 3

N  C 5

S NT 3

S  S 5

S  H 4

S  D 3

S  C 5

E NT 9

E  S 7

E  H 9

E  D 9

E  C 7

W NT 9

W  S 7

W  H 9

W  D 9

W  C 7

�

